
SAP ABAP table VZZKOPA {Alternative condition item - conditions}

VZZKOPA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SANLF [NUMC (3)]

RKEY1 [CHAR (13)]

RKEY2 [CHAR (8)]

RKEY3 [CHAR (8)]

DGUEL_KK [DATS (8)]

NLFD_ANG [NUMC (3)]

SKOART [NUMC (4)]

DGUEL_KP [DATS (8)]

NSTUFE [NUMC (2)]

SFORMREF [CHAR (4)]

SVARNAME [CHAR (4)]

SZSREF [CHAR (10)]

SKALID [CHAR (2)]

SKALID2 [CHAR (2)]

T056R

MANDT [CLNT (3)]

REFERENZ [CHAR (10)]
 VZZKOPA-SZSREF = T056R-REFERENZ 

0..N
0..N

TFACD

IDENT [CHAR (2)]

 VZZKOPA-SKALID = TFACD-IDENT 

0..N

0..N

 VZZKOPA-SKALID2 = TFACD-IDENT 
0..N

0..N


